Installation Guide
SPDS54* and SPDS56*
Universal Flat Wall Mounts

4
W

\
TXJ ©
\

L] & 0
0 0
0 o
£

‘epace Pole
kiosk & signage

J

MK15-0484_V1.0 08/2024



/A CAUTION ™~

e This product must be installed by a professional installer.

e This product is designed to be wall mounted. Before installing please verify that the
wall can bear the combined weight of the solution and hardware. Standard fixings
for wooden material and fixings for concrete material are supplied as part of the
product, but they will not be suitable for all types of walls.

e Itis the responsibility of the installer to use appropriate fixings for the specific instal-
lation location.

e The maximum weight limit for this product is 80 kg. Do not exceed the stated weight
limit.

e This product is intended for indoor use only.

e If these installation instructions are not followed precisely, it could lead to product
failure and potential personal injury.

e Ergonomic Solutions / SpacePole inc. cannot be held responsible for any failure or
injury, if the installation instructions are not followed correctly.




Tool list

PR e

SPIRIT LEVEL

f Box content

(? x2 (A) (? X2 (A) (T X2 (A)

SPDS54* - 400 mm
D ) ) ) SPDS56* - 600 mm
| %

L

B @

Y

0

4x M6x20 4x M8x16 4x M8x25 4x M8x35

4x M6x12 8x M8 washer 4x M8 spacer

T

\ 4x wall plugs 4x 8x60mm screw /




/@ Mount wall bracket

\_

\
\
B

/N

\
--q.‘-- -
A

;

\

Itis the responsibility of the installer to use the
appropriate fixings for the specific installation

location!




/—@ Mount screen bracket

M8x25 ﬁ
M8x16 ﬁ

R
M6x12 —ﬁ

M8 spacer —@

M8 washer @

.

<

8




/@ Mount screen on wall

B




/—@— Level and secure the screen bracket (optional) —

A\

For ***ES builds only!

For ***ES and ***FP builds

.




/— Need help? Contact us N

‘ ergonomic’ spacepole
m-u-q- SOlUt'OnSE 1 : Lp anergorEo)mic

solutions company
ergonomic.solutions/about/contact-us spacepole.com/about/contact-us




